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yEayd fererfeFt =i feafta T |

A pregnant woman in a rural area is struggling to get proper nutrition for herself and her baby due
to limited access to nutritious food. Which of the following interventions can provide
supplementary nutrition to address this issue ?

Distributing prenatal vitamins.

HTIETIRE 81§, JATETE! <l WIST shY Sl o ST LT U &1 8 | 39 Teufe o purwor shi ek o forw
ToRE TR <k ek TUT ST deehlct STTeaIhdl &1 Tehd! & 2
GH % 7T IR (Wi-g-32) STUmashiet HieH TR

In a disaster-stricken region, the population is facing food shortages. What type of supplementary
nutrition might be immediately required to prevent malnutrition in this situation ?

Ready-to-eat emergency food rations

qftss gEure giaen (TR s Bfafad) & gopt safe=i & v agg *1 Hifra uee fasedt &
ST UT9h Tl <l T 1 @A 2idl & | Ford SohR sht ques diwwr it 91 giafvad i § weg
Tl 2 o 3= STTavaIeh Wve o W & 2

HIERIEE ES (Wrarugred) S NvrEs e SEN (§S iHed) FeH B |

A group of elderly individuals in a senior care facility is at risk of nutrient deficiencies due to
limited food choices. What type of supplementary nutrition strategy can help ensure they receive
essential nutrients ?

Providing fortified foods and nutritional supplements.

HRERE FHUTHUT hl Teh &Y 2 Freht eavr 2
TiEUirET o1 TR &= ST a9 |

Marasmus is a form of malnutrition characterized by :
Severe muscle wasting and weight loss

SHUISOT T 8 2
e Tl o da IR I T STATIHATIHA o s ST

What is malnutrition ?
An imbalance between nutrient intake and body requirements.
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6. Trfefaa & @ =xfei 61 @= o1 Tg FUYor & gfd gaw 31fees gaesfia 8 2
T AfgeTd
Which among the following group of individuals is most vulnerable to malnutrition ?

Pregnant women

7. Torm qivs dwa < it @ TR B wehar @ 2
wgae

Which nutrient deficiency can lead to anaemia ?

Iron

8. T TR § g 3cUTeH i IR e o foTw ie | g g w9 § fmer & 2
e

Which hormone is primarily responsible for stimulating milk production in the mammary glands ?

Prolactin

9. S ¢ o &1¢ AT g Icatied NRINH g F1 7, S Tawa Ry % fog whetel (wfafis) iR 9w
T o R B2 2

HIAEH

What is the initial milk produced by the mother after giving birth, which is rich in antibodies and
nutrients for the newborn ?

Colostrum

10.  E9E O | Sl HH AT BT 8 ?
IE T HET H Tl ! HH BT S |

How does breastfeeding benefit the mother ?

It reduces the risk of breast cancer.

11.  Torvg T |@rad (WHO) gRI hael TadTH <h ST S7afer s & 2
6 WEH

What is the recommended duration for exclusive breastfeeding by the World Health Organization
(WHO) ?

6 months

12,  Twieen <t gfte o foru mateen wegor § SR W foha gTHIA <1 a1 SR ST & 2
A SN MASIITU (TS

Which hormone is typically detected in a pregnancy test to confirm pregnancy ?

Human Chorionic Gonadotropin (HCG)

13, THTEET % JEIATH A0 H § Ueh A1 8 S A1k & T 37T (missed period) & Ut & Tehal 8 2
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What is one of the early signs of pregnancy that may occur before a missed period ?

Morning sickness

14. THTeEer o fopd @1ea0r b1 TR “fFaenfm” (quickening) T SITAT & ?
UK
Which sign of pregnancy is often referred to as “quickening” ?
Foetal movement
15, e 3 SR To <hl WTAT § gfg % HROT hiF T ATk aftad gram 8 2
ReR@d A
Which physical change is a result of increased blood volume during pregnancy ?
Swollen feet and ankles
16. TG Shl BT T AT Fa | B dTet Iaet, GIera €16 ol &1 Had & ?
I
What is the term for the thin, milky discharge from the cervix that can occur early in pregnancy ?
Leukorrhea
17. 28 St Mee AfEeT A 1 9 HST 81 @I 7 | 36 Hha o 3TN Bl & 7, Al I8 3T 8¢
BT R | 38 TR TR B oft R @ | W 6 fora Sifectn w1 s1gve & @t B 2
YA
Sarah, a 28-year-old pregnant woman, is in labour. She has been experiencing contractions, but it
is suddenly stopped. She also complains of severe bleeding. What complication might Sarah be
experiencing ?
Placental abruption
18.  WHO T feunf-ésti < STqaR ANC fafsre it =an @@ 389 TR 2
Minimum of ANC visit as per the new WHO Guidelines are :
8
19. 30 affa mefart wfeer ofien o AgEg 6 SuRl 8 | 6w S e TRk T o 91 9 g § |
54 feufd =1 1 Fed & 2
AT ST ST
Leela, a 30-year-old pregnant woman, has a history of diabetes. Her baby is born with low blood
sugar levels. What is this condition called ?
Neonatal hypoglycaemia
20. 35 e h1 e wfEed A 1 3T S R TH G % w1 WK TRETE H1 HTHAT BT U &R |

Fafercarehiar &aaiT o Sras[g WasTd SR 8 | 39 TR TEaiR e o1 @9Tad Hrer 31 8 2
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Sophia, a 35-year-old pregnant woman, is experiencing heavy bleeding after giving birth to her baby.
The bleeding continues despite medical intervention. What is the likely cause of this severe postpartum
bleeding ?

Postpartum hemorrhage

21. Y94 % G, 29 a¥ta miadt Afgen w1 1 3= U % feet fewd # 99, % 9Tl < megd
2 | 35 ¥g ot ot o o= o1 Eea T S B TS B | 9 B EhAT B 9

AT WS

During labour, Rama, a 29-year-old pregnant woman, suddenly feels a sharp, tearing pain in her
lower abdomen. She also notices that the baby’s heart rate has dropped. What could be
happening ?

Umbilical cord prolapse

22. 25 affa mefardt wigen ST I S Bl S S % o1E oo JER SR i i od g ® | 38 gl
o |1y i At w1 1 off STE AT 7 | 30 YEERR fohm SAfeeTd b |THAT HT U HehdT § 2
ugmefen (Srmiwiereherang)
Anamika, a 25-year-old pregnant woman, develops a high fever and severe abdominal pain after giving

birth. She also experiences heavy vaginal discharge with a foul odour. What postpartum complication might
she be facing ?

Endometritis

23. 319 U AT TaTE hTehdl & S T TG oy § TSy SAFTEehdl 93 ST & &
| 1o g 3 G, 31T @d 2 fob $e 3ufeera @ gk 3 foafera wedta & € | s feufa @
e o foTT 3TTaent ford H=R hIvel 1 START AT AMMRT 2
HTET Q Gk SIS 3R 375 AT L % fT G 7 98 |
You are a community health worker conducting a health awareness session in a local community

center. During your presentation, you notice that some attendees seem disengaged and distracted.
What communication skill should you use to address this situation ?

Make eye contact and ask open-ended questions to involve them.

24. 3T U Ik TIEe Hriehdl &, 3T STTIeh! HTdT- T o Teh THE hl STeTEl < hTHUT o Hed
SR | G T 2 | Teh Hrar-TUar o S <hi geeq < SR H foar e i | 3t faarst b e @ |
T St o ToTT STTHeh! foht TR hITet o IUANT LT AT 2

I7eh! Tearal @t Wier &, FEEHd W 3R A& - 3meTia STHHRT TG H |

You are a public health worker, and you need to inform a group of parents about the importance of
childhood vaccinations. One parent express concern about vaccine safety. Which communication
skill should you use to address their concerns effectively ?

Acknowledge their concerns, empathize, and provide evidence-based information.

25. 319 T WH-YH I 3Tedl sl s ¢ & fore iR ameries @ dm & faea 8 | 3
TeE % TeEdl o fofay ag o U Sk ooiE g = ®@ € | $© St | gwrEsed
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ST T Serd &, 3R =R gAY 7 | 39 fefa § S1aen! SiF |1 =R Sivre SO 91fe 2
TS WTHT, Y1 <hT ST oht ST AT GWE B A STATTed amaft s & |

You are part of a community health team responsible for promoting healthy eating habits. You are
conducting a cooking class for a diverse group of community members. Some attendees do not
speak English fluently, and communication is challenging. What communication skill should you
employ in this situation ?

Use simple language, visuals, and provide translated materials if possible.

26.

I Th T wreed foieres € S fheTRi % U Tg o fofw o wenfia @shmv (STI) W U
SHTITSAT (FehITT) ST PR & | Teh Tawft Teh Hagsfiet 3 SAfETd 97 T5aT 8 | STIhI hdl
gfafsean o =rfew 2

el ==t bl Weafaa e, MR s T 3 foemefier s e |

You are a community health educator conducting a workshop on Sexually Transmitted Infections
(STIs) for a group of teenagers. One participant asks a sensitive and personal question. How should

you respond ?

Encourage open discussion, maintain confidentiality, and provide a thoughtful answer.

27.

3T Teh TTYETIeh TR Hliehdl & fofe G (T & 3k T H STeht Ieh! TR STTITIHhT3Tl
T AT i b fere Forgeh feran o 2 | Franfell § & ush g3 § 31em 2 | 39 <Ak & |t wwrelt
TR gifead i o foTu 31Teh! fohd S shieTet o1 TR AT 1fET 2

WY EY Y St IR Afe 3rarsges | aF 39 A1 ferRaa arnft w5 st |

You are a community health worker assigned to visit elderly residents in their homes to assess their health
needs. One of the residents is hearing—impaired. What communication skill should you use to ensure
effective communication with this individual ?

Speak clearly and use gestures or written materials if necessary.

28.

a1e forehra o fore o0 & o= ST WX Shae T, STl ohl UehgHT TR 370 A1 W uffsham
TEHR IR ?

Ty

At which stage of child development do children typically begin to roll over, grasp objects, and
respond to their own name ?

Infant

29.

THATSTTE 1 T fope o g oft 2
FPAI was established in the year of :
1949

30.

frafafea & @ = o a1 fawm % fy-Tger = (2 6 foemar g 2
TS & WTem | g @
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Which of the following is a characteristic of the pre-schooler stage of child development ?

Exploration of the world through play.

31.

IR | TN w1feteh! fead e =T STar 2 2
24 Sl
When is the National Girl Child Day celebrated in India ?

24™ January

32.

THTS T 1 T B o ToTu foper afietes o1 3w foha e & 2
Hifeaw seiee
Which preservative is used for preserving the tomato sauce ?

Sodium Benzoate

33.

o1 o 1 B 1 =0 3fUe IAq TFETHS i, S I AT 3R gHen-awyE %
rEw & ST ] 2
CAICI

Which stage of child development is associated with the acquisition of more advanced cognitive
skills, such as abstract thinking and problem-solving ?

Adolescence

34.

Terett ket <t Tt wftarsT g+ |
T Teretl a1 a1 Tl Afcwma 9 s & fore savas e

Choose correct definition of Kilo calorie.

Heat required to raise temperature of one kg of water by 1 degree C.

3s.

TaATeTeh foere Tedfl guensti o et gfiee sTeamEdn o 39al (Adverse Childhood
Experiences (ACE)) T ST T Hehal 2, o e &

EEATh TS 1 geHeE
Emotional developmental problems can often be linked to Adverse Childhood Experiences
(ACEs), including :

Traumatic events or abuse

36.

T ST Sl C@NTE A STel o A1 ST S H HiSATS 1 ITWE Ll & 3R 38 Feryfa feam
3T fod = 8 Qe Bt 2, o fFrefafea e welia st g 2

wfafsrarsiier e feepr (Rufeea steawe fea=Atst (RAD))

A child who experiences difficulty in forming attachments to caregivers and has trouble in
showing empathy and forming relationships may be exhibiting signs of :

Reactive Attachment Disorder (RAD)

37.

HARER (A) : TTEY THTHAT Weed & gHTioes Fuften! sl gaifad w1 & fau 3= a6 & @i
A LAl 2 |
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B (R) : T o GTioreh fHerite aradl shReh & foieht Tmm wmee afomt w 9gd 1 J9mE ggal
2
(A)TE 2 3 (R) T # |

Assertion (A) : Health agencies collaborate with other sectors to address the social determinants of
health.

Reason (R) : Social determinants of health are external factors that have little influence on overall
health outcomes.

(A) is true and (R) is false.

38. IANBAT (A) : fova @Ry @ed (WHO) St STatigh Tame Teiiadl Ie €9 8 TE e
EuTe ifel e higd wt F |
HR (R) : STE W@reey Teifaat Afvges @mee yamal o T 3 i ar s gHifaEt &
THTET LA o fore fomrer £ |
(A) T & 3 (R) TR |
Assertion (A) : International health agencies like the World Health Organization (WHO)
primarily focus on national healthcare policies.
Reason (R) : International health agencies are responsible for coordinating global health efforts
and addressing cross—border health challenges.
(A) is false and (R) is true.
39.  IANHAA (A) : WA e TSTET §&d €9 8 SrEfgeha STEUH Hd & fore foier & |
R (R) : SRATEHheT STTHYT T T I TR TSI 1 J&7 $H 7 |
(A) 7T & 3R (R) St e # |
Assertion (A) : Local health agencies are primarily responsible for conducting biomedical
research.
Reason (R) : Biomedical research is the core function of health agencies at the local level.
(A) is false and (R) is also not correct.
40. TrfeRaa 6 9 form Sfie wmeht (vital statistics) T 3TN fereft farfere o srafy o & 18 Sween 9
T8 35 <h1 U 1,000 AlEeAT3T W Siferd S bl ST <1 919 o foTu fopam Siran & 2
JAYTSHA FH T
Which of the following vital statistics is used to measure the number of live births per 1,000
women of childbearing age in a given population in a specific time period ?
Crude birth rate
41. TS TR west e &9 4 T o fohd a9 hred & 2
s

At which time of day do the aedes egypti mosquitoes bite primarily ?
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Day time

42.

frfefiea & @ sF 1 5@ (nuts) , TR o1 99 9YG 81 @ 2
T

Which of the following nuts is the richest source of iron ?

Pistachio

43.

A T UHT 1 BT & ST ATHT Hel I H Tl hidl & ?

RS

What does the fruit contain that assist in normal bowel movements ?

Cellulose

44.

el (pulses) T 0T feRief SHHehl o T § BIEE TR T FFH TR J9T6 STe7d 8 2
TR H o WIveh qeal ot ST W H § |

How do the phytates affect to the body as anti-nutritional factors in pulses ?

Decrease the availability of some nutrients to the body.

45.

Tad | I 91 8L WIS IR0 A1 R 2

RSIEY e

Which simple protein is found in blood ?
Globulin

46.

Frfafaa 5 @ form &ra 1 woft sTreress sl tae i @ 2
KK
Which of the following sources, contains all the essential amino acids ?

Eggs

47.

Y07 Hejeft TS STet S 3T Hodieh Shid TH, 31T i HT HRUT HH Hehd & ?
T 3 et 6t 5t

When assessing the child with the nutritional Marasmus, which cause can you assume ?

Deficiency of protein and calories.

48.

T St AT 3h1 TE=TH o TTT 319 S T hIH A1 TG Hoheleh i JTTehei il ?
39 % Tew™ & %0 a9

Which first indicator will you assess in child for recognition of Protein energy malnutrition ?

Underweight for age.

49.

IR hfcHIH HId o FTT I T 3 A hl HoTg & S T & 2
WY

Which cereal can be advised to take for good calcium source ?
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Ragi

50.

e 319 FER & fifsd T T GeaTehd L T8 & 3T 3719 UTd & foh Feeht hred W o= et qd feufq 4
T 3T & 377 febw et B e e 2

TR frieteo
Which condition will you diagnose if you are assessing the child with fever and you find the skin does
not go back quickly when pinched ?

Severe dehydration

51.

Tastefiertor <At feufer & 319 s=3 <1 @ & <Al TetTg Tl < 2
had g Ut
What you will not advise to give to child in dehydration ?

Pure water only

52.

ToRE TR T C1ohT @8l 3TafY deh IR T hidl & 7
Sfifera dent (STge FA)

Which type of vaccine gives longer duration of immunity ?

Live vaccine

53.

AT o H1EEH & YT H A1 USTE) 3B SHTGRT YT b fohl Teh <l fcretl e s 8 7
Tafeora

The transfer of maternal antibodies across the placenta to the foetus give which kind of immunity
to the foetus ?

Passive

54.

TuTelt FrehTehtuT 3 foTT ekt S ST SHTT TEH 6l Hgeaqul Juref! T & ?
Hieg o

What is the important system to maintain the potency of vaccines for effective immunization ?

Cold chain

5s.

ST 1 B g ST b & i o) e 21 3 7
e

By acquiring the herd immunity in population, which disease has been eliminated ?

Polio

56.

forg T WHO = amfermiiens it W afgaes Sreprertor heishy 3% foharm 7

In which year did WHO officially launch a global immunization programme ?
1974

57.

1975 H gigaT31i o forge geiets 3 ford e bl Aigeniafi sl AR =it foram ?
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IO S| o6l HEHT W A €9 & R o
What statement did the World Conference of the Women in 1975 declare as Women’s right ?

Decide freely on the number of their children.

58.

‘it FrRISH’ 2ee o G99 § hi9 91 hY4 HA 3 ?
wETH A G |

Which statement is false regarding the word ‘family planning’ ?

It is just increase in the birth rate.

59.

Bl IRER ATCS (STt Hitefl AiH) TRER shedmor swrishA i 3239 A1 fSraent gdies o
ISTET AT {310

The small family norm was the objective of the family welfare programme which was symbolized
by the

Inverted red triangle

60.

39 Teh WH e ¥ Tierd & freeht grar &t ° w53 2, forad afgen &t 39 22 o4 2 | a1 319 37 foiw
I T ITeg Hfid il ?

WUNIEEREXKRCECESIS))

You come across a couple who has been recently married, in which age of female is 22 years. So
what term you will refer for them ?

Eligible couple

61.

RA TR G T8t TS SEe A el o118 715 7
When was the First National Population Policy formed by Government of India ?
1976

62.

SAEHTA TTeTSiieTe <l IETEL0l 41 & ?
T HSHR HT 92T ATSLCH FRHH ST AT |

What is an example of Intergenerational Mobility ?

Bus conductor’s son becomes IAS officer.

63.

TeReTIRT T Ueh TYE TRt | 3T Sl hl YHHTAT &
ia:ErTa wEy
A group of teenagers bullying other kids in school is

Intragenerational conflict

64.

IR H 3T o ST 1 9 o feT 379 Al ot bl @1 fererfiq o < gerg e 7
faerftm C

To increase the absorption of iron in the body, which vitamin will you advise the people to take ?
Vitamin C
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65.

TS O ITSeh dedl o Sgal 3TTINYYT o feTu SAT9eh! WIS o |1 31 91 | 4 91 U9 72 o1 =1feu ?
-

To have the better absorption of nutrients from food, which beverage you should not take with or
after the food ?

Tea

66.

=1 A gl & Sgat fae@ o foru Shfcaem & 3= srasiy & forw o6 a1 faerfim smavas 2 2
T D

For better growth of bones in children, which vitamin is necessary for good absorption of calcium ?
Vitamin D

67.

I b1 B8 BIFENAhIH (WTE Taeiehul) =e BT & S Tnnfes mget 6t guea ¥ faed & fore wwreh
27
THeh T FTAEIHT

Which food fortification is running which is effective to combat the problem of endemic goiter ?

Iodization of salt

68.

ferarfea @mer were ol fosht & fou @ e & 2
G ST (RS TEeee)

Putting up the decomposed foods for sale is

Food adulteration

69.

OPV fera 35 ek fezm s aehar & 2
599
Upto which age the OPV can be given ?

5 years

70.

5 o deh % sreil ol fereTfi A <Y et fehert gures o+t =igu 2

How many total doses of vitamin A should be given to children upto 5 years ?
9

71.

16-24 HE <1 30 & fepe Eieh <Al TEt Gk (ST) & Tt 2 7
DPT

At the age 16-24 months, which vaccine’s booster dose is given ?
DPT

72.

freferfiaa @ fore feufe o Swer s o d 9fg 2nft 7
FER

From the following, in which condition will the basal metabolic rate increase ?

Fever
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73. 39 §¢ T ASH aTet 10 T o = <hl e oKL T2 & ar 319 Form fafer & war & wepd 2 o /= wren
AT ?
e ATE e
You are examining a 10 year child with increased weight, so by which method can you determine
whether the child is obese or not ?

Body Mass Index

74. e fopelt safer shi Sies wa arafdes nifafafert ot foemy g w feft 2icfi & qen g1 % 31ame 4 /K
i Topamd guTferd Bt € a1 39 STaEAT HI FTHEd & 7
T &

When a person’s physical and mental activities are dependent on particular drug and in absence of
drugs, body functions get affected. This state is called as

Drug addiction

75. Trafafaa weteEee % TRl o e o fow a8t foemew i
A B
(i) diefiéehrsgd (a) S
(i) THAREEH (b) WS
(iii) STEdpUZEH () =
(iv) 3TUT=a SRR wIgsR  (d) Hererst

Give the correct option for following match for forms of carbohydrates :

A B
(i) Polysaccharides (a) Cellulose
(il)) Monosaccharides (b) Lactose
(ii1) Disaccharides (c) Starch

(iv) Indigestible dietary fibre (d) Galactose
(D)-(c), (ii)-(d), (iii)-(b), (iv)-(a)

76. Tore TSR 3 STTER WUl TYE H STHA-THA (face-to-face) T HUSh 3TG¥ BT AT 7
T

According to which sociologist, the face-to-face contacts must be there in primary group ?

Cooley

77, “BTHIRSTeR Giad STee foptent Iui LT @ 7
HHTRT Heh, TishaT S TS 1 frean
What does the word ‘social change’ describe ?
Variations in social interactions, process and organisation.

78.  feboret Sferm o IrgEm wmIfoRs uREdT = g 7
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HHTRTE |TSH H qiaeH
According to Kingsley Davis, what is social change ?
Change in social organisation

79.

afgenait % fora st 3 graTfoes aftad-i it Jeen 7
=X 3R aftar 1 fre

Which right of women has given the series of social changes ?
Home and family relationship

80.

FrTfeh Titad Y Jhid F 2 7
HYEE § qiEa

What is a nature of social change ?
Change in community

81.

I |1 89 3T HI Eld T8l & 7
T ieR wfeert

Which is not a source of Heam Iron ?
Green leafy vegetables

82.

TTFERTOT % G id 78 & B 7
et ST (SeRTre Tui)

During Pasteurization, which will not be killed ?
Bacterial spores

83.

frafafea 4 @ fefim s e s e Fem @i 8 ¢
() Tererfim ¢ it sufeuf & 3R sEaw ety g |
(ii) fereTfim D a7fdi & Shfcaam 3R FREARE % ST i TG &1 ¢ |
(i) fererfem E 3tfa # faerfim A % stfafioo i Ushar 2 |
(iv) Terefim K Tesine i gre e 2 |
(), i) 3 i)
From the following, which statements are correct for the vitamins ?
(i) Iron is better absorbed by the presence of vitamin C.
(i) Vitamin D promotes intestinal absorption of calcium and phosphorus.
(iii) Vitamin E prevents oxidation of vitamin A in the intestine.

(iv) Vitamin K promotes bleeding.
(i), (ii) and (iii)

84.

IS 1 BITETUhehI o fTT IUIH ST TH T ST TG =TT, 7
WIS BN H W (Tqe) BT =11RT |

What should be kept in mind while food is qualified for fortification ?
The food should be staple in diet.

8s.

THTIOT @Ter 319 o Ar9al 8 FPA stfufem 8§ foraa swroemg o gaam g 7
13
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6 TEH <l e

How much imprisonment is there in FPA Act for cases of proven food adulteration ?

6 months imprisonment

86.

ICDS % d&d THadt 3T T U JTeft AfgetaTt i fha=t eh Heakl &f It 8 ?

How much supplemental calories given to the pregnant and lactating women under ICDS ?
600

87.

6-72 T8 o TR FAITYA =l o for ot forfiar gremiferd & €t St 8 2

How much financial revised rates are given for the severely malnourished children of 6-72
months ?

12.00

88.

ICDS  ECCE &1 &1 37 8 7

ITefl AT3eegS I WS TIHIH
What does ECCE denote in ICDS ?
Early Childhood Care and Education

89.

T % fope fe g Afasht 1 1CDS wftEiemr # wifa 6t fdi CDPO i T it & 7
TE 1 et fea

On which day of the month the ‘Mukhya Sewika’ has to report the progress to the CDPO in ICDS
project ?

Fifth day of month

90.

forerfi A TqEoT 3 foTu STiMaTS! shriehatati gRT hid &1 TSTEeX ST ST 8 7
ettt A fanies w—s W

For Vitamin A supplementation, which register is maintained by the anganwadi workers ?

Vitamin A Biannual Rounds Register

91.

feramifci & %I'QTIE'T&I TI9OT HTIshH (National Nutritional Programme) & emeff g ?
119 15 98 6 Fefpat et IR %1 a1 30 fFramm e w1 |

Who are beneficiaries of the National Nutritional Programme for the adolescent girls ?

Girls of 11 to 15 years with body weight less than 30 kg.

92.

3 gRaR fasH fafert o 92 foereq sarsy |
A B

() e aErfafat (o) e $ @y
firsiree=

(i) TEmfes snen fafert (b) w1eT - D
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(iii) gt faferat (c) e
(iv) TR HHATEA () AR (SHTETES)

fafeat HIF TR
Give the correct option for these family planning methods.
A B
(i) Physical Barrier (a) Mifepristone with
Methods Misoprostol
(ii)) Chemical (b) Mala—D
Barrier Methods
(i) Hormonal (c) Condoms
Methods
(iv) Post (d) Spermicides Foam
Conceptional Tablets
Methods

(D)-(c), (i)-(d), (iii)-(b), (iv)-(a)

93.

Teg ferame atfufam 1976 S=N9A € 9act eI o T i €1 X0 oY &Y o7 7
EQill

Which reason was not valid for divorce prior to 1976 amendment to Hindu Marriage Act ?

Cruelty

94.

AT Heell T sl oh Tt —aroT < fofe fTara wrarer < 9 | afta <hi aftamen ferem & 2
BepTgr U

Who gave definition of family as definite provision for sex relations and child rearing ?

Maclver and Page

9s.

ICDS ¥ YWY Giead 919 WBNP 18 ?
e ote YA T
What is the abbreviation WBNP used for in ICDS ?

Wheat Based Nutrition Programme

96.

Ffe 3ot Tar iR it fed wF dey W@ 9Tt 9 e TER T W & B dt 39 T §
foper wrehTt BT i@ for@m ¢

HYH THER
Which type of family you will write in record if you find a family in which 3 nuclear families
which are having the blood relation live together ?

Joint family
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97. 319 fereft Tft w1 Wifeaen & oteqor o fiteg, 3edt 3R 38 T o 1Y o §E@R <& &, I 379 I8
T Hehd & foh I T8I0 Toh8 TehTh U & 7

Lo

You see a patient with paroxysm symptoms of headache, vomiting and high fever with chills, for
which infectious disease you can assume these symptoms are ?

Malaria

98. EHICAITeH % fohE T T 5 Y o = hi THITEeh AT ST <MY ?

At which level of Hemoglobin the 5 year old child should be considered as Anaemic ?
11 mg/dl

99, fxIeh Uie (VTSI TIdT) H HRH AT RS ?
E|pIC]

What is the causative organism for the chicken pox ?

Virus

100. STSHTHAR o STTAR 2 HEH o 1Y I g4 e aTeft 71 o SMER § A "G hl g § foher
e ettt Y JATavaIhdl Bt 2 ?

T 600 Tohent Hetil

How much additional calories are required in diet of a lactating mother of a 2 months infant, than
diet of a normal woman according to [ICMR ?

Approx. 600 kcal
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